COSX —sinx

Example 11 Ifx, y € R, then the determinant A=| sinx

COsX

1

1| lies

cos(x+y) —sin(x+y) 0

in the interval

(A) [V2.42] (B)[-1,1]
© [2.1] (D) [-1.-+2.]
Example 12 If A, B, C are the angles of a triangle, then

sin® A cotA 1
A=[sin’B cotB =,
sin’C  cotC 1

Using the proprties of determinants in Exercises 7 to 9, prove that:

y'iz yz y+z y+z =z ¥
- X = z+x|=0 g | z z+tx x |=
X'y oxy x+y ¥ x x+y
a’+2a 2a+1 1
9. 2a+1  a+2 l=(a-1)
3 301
4-x 4+x 4d+x
13. If|4+x 4—x 4+x|=0,then find values of x.
4+x 4d+x 4-x
16. Show that the AABC is an isosceles triangle if the determinant
1 1 1
A=| l+cosA l+cosB l+cosC |=0.

cos’A+cosA cos’B+cosB cos’C+cosC
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